ORIGINAL SIDE ONE

MAY 3 0

STATE CORPORATION COMMISSION OF KANSAS	API NO. 15- $147-20529-0$	0-00
OIL & GAS CONSERVATION DIVISION RELEASE WELL COMPLETION FORM ACO-1 WELL HISTORY 5209	County Phillips	CONFIDENTIAL
DESCRIPTION OF WELL AND LEASE MAY 2 0 19	92NW NE SW Sec. 32	Twp. $5S$ Rge. 20 \times We
Operator: License # 5447	2310 Et Nort	h from Southeast Corner of Secti
Name: OXY USA, Inc. FROM CONFID	Ft. West	from Southeast Corner of Sectio
Address P.O. Box 26100		ocate well in section plat below
	Lease Name Johnson B	Well # <u>12</u>
City/State/7ip Obla City- OV 72126 0100	Field Name Ray	
CITCO Okla. City, OK 73126-0100	Producing Formation Reagan	
Purchaser: CITGO	Elevation: Ground 2189'	
Operator Contact Person: Raymond Hui	Total Depth 3654	
Phone (405) 749-2471	Total pepth 3034	
Contractor: Name: Allen Drilling Company		5280 4950
License: 5418' RE	CEIVED COMMISSION	4620
Wellsite Geologist: William Keller	A TION COMMIC	3960
Wellsite Geologist: WIIIIAM REITEI	0.8 1991	3300
		2640
X New Well Re-Entry Workover CONSER	VATION DIVISION THE PROPERTY OF THE PROPERTY O	1980
OTCSWDTemp. Abd.		1650 11
Dry Other (Core, Water Supply, etc.)	(a) 	990
If OWNO: old well info as follows:	W8' \ []	1 330 5-13-91
Operator:	5280 4950 4620 4290 3960 3960 3960 2970	1980 1980 1980 1980 1980 1980 1980
Well Name:		d Cemented at377 Fee
Comp. Date Old Total Depth		ar Used? X Yes
Drilling Method:	If yes, show depth set $\overline{ ext{DV T}}$	ool at 1734' Fee
Mud Rotary Air Rotary Cable		ement circulated from 1734
$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		w/ <u>400</u> sx cmt
INSTRUCTIONS: This form shall be completed in triplicate ar	d filed with the Kansas Corpora	ation Commission, 200 Colorado
Derby Building, Wichita, Kansas 67202, within 120 days 82-3-106 apply. Information on side two of this form will be within and a state of the state	of the spud date of any well. De held confidential for a perio	Rule 82-3-130, 82-3-107 and of 12 months if requested in
writing and submitted with the form. See rule 82-3-1	07 for confidentiality in excess	is of 12 months. One convert all
wireline logs and drillers time log shall be attached with a form with all plugged wells. Submit CP-111 form with al	l temporarily abandoned wells.	Any recompletion workeyer or
conversion of a well requires filing of ACO-2 within 120 day	s from commencement date of suc	h work.
All requirements of the statutes, rules and regulations promule	gated to regulate the oil and gas	industry have been fully complie
with and the statements herein are complete and correct to the	e best of my knowledge.	, , , , , , , , , , , , , , , , , , , ,
Signatura		
Signature	K.C.C	of Confidentiality Attached
Title <u>Operations Drilling Manager</u> Date	<u>4-29-91</u> C <u> </u>	ne Log Received
Subscribed and sworn to before me this $29th$ day of Apri	1, c Drille	rs Timelog Received
19 91.	1/ 200	Distribution NODA
Notary Public Kay ann Kilmer	KCC KGS	SWD/RepNGPA PlugOther
Date Commission Expires4-//0-94		(Specify)

SIDE TWO

Operator Name OXY	USA, Inc.		Lease Name	Johnson	ı B	Well #	12
		☐ _{East}	County	Phillips	3		
Sec. <u>32</u> Twp. <u>58</u>	S Rge. <u>20</u>	☐ West	1.3				***************************************
INSTRUCTIONS: Show interval tested, time hydrostatic pressure if more space is need.	me tool open a es, bottom hole	and base of format and closed, flowing temperature, fluid r copy of log.	and shut-in pres	sures. Whet	her shut-in pro	essure rea	ched static level
Drill Stem Tests Tak (Attach Additiona		Yes No			Formation Desc	cription	
Samples Sent to Geol	ogical Survey				Log 🗆	Sample	
Cores Taken		Yes No	Name		Тор	Bott	om
Electric Log Run (Submit Copy.) Ran Dual	Induction/	X Yes □ No	Topeka Le Compto Oread Heebner Toronto LKC	on	3135 3205 3247 3294 3318 3335	320 324 329 331 333 353	.7 4 8 5
			Basal Per Reagan	ın .	3539 3586	358 365	6
		CASING RECORD	New U			**************************************	
	Report a	ll strings set-condu	New الله Ne	sed ntermediate,	production, et	c.	
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs./Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
Surface	12 1/4"	8 5/8"	24#	<u>377'</u>	_C1.A	270	_3% cc
Production	7 7/8"	5 1/2"	15.5#	3651 '	*D1 C		
Shots Per Foot	PERFORATION			Acid,	<u>rris refer</u> Fracture, Shot, d Kind of Mater	Cement Sq	info below. ueeze Record Depth
4	Reagan 35	588 – 3590 '		Not tr			
TUBING RECORD	Size 2 7/8"	Set At 3543'	Packer At	Liner Run	☐ _{Yes} ☑	. No	
Date of First Produ		ng Method —					
4-13-91		☐ Flowing	LXPumping L Ga	s Lift 📙 (Other (Explain)		
Estimated Production Per 24 Hours	n Oil 141	Bbls. Gas	Mcf Water	Bbls.	Gas-Oi l	Ratio	Gravity
Disposition of Gas:		HE	THOD OF COMPLETION	×		Р	roduction Interval
Vented Sold (If vented, sul		ease Dopen	Hole X Perfor	ation 🗆 🛭	ually Completed		
		Other	r (Specify)			31	588-3590

^{*}Production Csg Info: Pumped 50 sx 50/50 Poz. A w/10% salt + 2% gel., followed by 125 sx standard EA-2 + 5% Cal-Seal. Pumped 400 sx 12.7# gel light w/44#/SX flo.



KCC

P.O. BOX 951046 DALLAS, TX 75395-1046

HALLIBURTON SERVICES AY 3 0

904569 02/17/1991

ONIONA	A Halliburton Company CONTEDENT	AL	304363	02/17/1991
ASE NO./PLANT NAME	WELL/2LANT LOCATION	STATE	WELL/PL/	ANTOWNER
	PHCLLIPS	KS	OXY USA	
C/0/1000 P		<u> </u>		

CE LOCATION	CONTRACTOR	JOB PURPOSE	TICKET DATE
N N	ALLEN DRLG	CEMENT PRODUCTION CASI	NG 02/17/1991
NO. CUSTOMER A	GENT VENDOR NO.	CUSTOMER P.O. NUMBER	SHIPPED VIA FILE NO.

NO. CUSTOMER AGENT VENDOR NO. CUSTOMER P.O. NUMBER SHIPPED VIA FILE NO.

67 JIM NOWELL E-26 COMPANY TRUCK 10501

OXY USA INC.
REGIONAL OFFICE
ATT: G. I. MCFARLAND
PO BOX 26100

OKLAHOMA CITY, OK 73126-0100

DIRECT CORRESPONDENCE TO: FIRST OKLAHOMA TOWER 210 WEST PARK AVENUE SUITE 2050

OKLAHOMA CITY, OK 73102-5601

9-1572346 × 2360.1/724

4-	-15 (2346 X & 360	· · · / (~ -	7		
E REF. NO	DESCRIPTION	DUANTITY	U/M	UNIT PRICE	AMOUNT
3-127	CAL SEAL	6	SK:	19.70	118.20
9-968	SALT	541	LB	. 10	54.10
7-775	HALAD-322	Ju 59	LB	5.95 ^	351.05
2-970	D-AIR 1, POWDER	29	LB	2.55	73.95
1-316	HALLIBURTON LIGHT W/STANDARD	400	SK	6.10	2,440.00
2 - 2 1 0	FLOCELE	100	LB	1.30	130.00
9-968	SALT	400	LB	. 10	40.00
) - 207	BULK SERVICE CHARGE	602	CFT	1.10-	662.20
0-306	MILEAGE CMTG MAT DEL OR RETURN	1362.35	TMI	.75	1,021.76
0~307	MILEAGE SURCHARGE-CEMENT MAT.	1362.35	TMI	.10	136.24
	INVOICE SUBTOTAL DISCOUNT-(BID) INVOICE BID AMOUNT *-KANSAS STATE SALES *-DECATUR COUNTY SAL	TAX CO	ORPORA MAY (NSERVA	EIVED THON COMMISSION 8 1991 THON DIVISION A. Kansas	13,409.65 2.650.68-0 10,758.9720/ 341.18 80.29
	OKLAHOMA (
	DISB. APPR.	MAR 6 1	991		RELEASED
	327-77 1332	E DATE CO. BZ.		-	MAY 2 0 1992 OM CONFIDENTIA
	S/H IAA NC PC		-		OIVI CONFIDENTIA
	INVOICE TOTAL - PLEASE PAY THI	S AMOUNT ==	===	========>	\$11,180.44

IX JOB TKT

TERMS

INVOICES PAYABLE NET BY THE 20TH OF THE FOLLOWING MONTH AFTER DATE OF INVOICE UPON CUSTOMER'S DEFAULT IN PAYMENT OF CUSTOMER'S ACCOUNT BY THE LAST DAY OF THE MONTH FOLLOWING THE MONTH IN WHICH THE INVOICE IS DATED. CUSTOMER AGREES TO PAY INTEREST THEREON AFTER DEFAULT AT THE HIGHEST LAWFUL CONTRACT RATE APPLICABLE BUT NEVER TO EXCEED 18*, PER ANNUM IN THE EVENT IT BECOMES NECESSARY TO EMPLOY AN ATTORNEY TO ENFORCE COLLECTION OF SAID ACCOUNT. CUSTOMER AGREES TO PAY ALL COLLECTION COSTS AND ATTORNEY FEES IN THE AMOUNT OF 20*, OF THE AMOUNT OF THE UNPAID ACCOUNT

REMIT TO: P.O. BOX 951046

INVOICE NO.

DALLAS . TX 75395-1046

VOICE

HALLBURTON SERVICES MAY 3 0

051262 02/12/1991 WELL/PLANT OWNER

OWOLL/PRAIST LOCATION WELL LEASE NO / PLANT NAME STATE 00 KS OXY USA INC. NSON B-12 JOB PURPOSE TICKET DATE CONTRACTOR SERVICE LOCATION C ESTENT 10 KG GO 000 00 02/12/1991 SURFACE CASING ALLEN OBERLIN SHIPPED VIA FILE NO CUSTOMER P.O. NUMBER CUSTOMER AGENT ACCT. NO COMPANY TRUCK 10336 E-26 JIM NOWELL 559167

RELEASED

OXY USA INC. REGIONAL OFFICE ATT: G. I. MCFARLAND PÖ BOX 26100

MAY 2 0 1992

DIRECT CORRESPONDENCE TO: FIRST OKLAHOMA TOWER 210 WEST PARK AVENUE FROM CONFIDENTIAL 2050

OKEAHOMA CITY, OK 73126-0100

OKLAHOMA CITY, OK 73102-5601

,		,			
PRICE REF. NO.	DESCRIPTION	QUANTITY	U/M	UNIT PRICE	AMOUNT
PRICING AR	EA - MID CONTINENT				
000-117	MILEAGE	50	MI	2.35	117.50
		1.	UNT		1
000-118	MILEAGE SURCHARGE - CEMENT - LAND	50	MI	.40	20.00
		1	UNT		,
001-016	CEMENTING CASING	376	i	480.00	480.00
3	A CONTRACTOR OF THE STATE OF TH	· **		1 17	A many trade to the state of th
030-503	CMTG PLUG LA-11, CP-1, CP-3, TOP	8 5/8	ı	90.00	90.00
		1	EA		
40	CENTRALIZER 8-5/8" MODEL S-4	3	EA	53.00	159.00
807.9305					1 222 50
504-308	STANDARD CEMENT	270		6.75	1,822.50
509-406	ANHYDROUS CALCIUM CHLORIDE	10		26.25	85.80
507-210	FLOCELE	66	ı	1.30	323.40
500-207	BULK SERVICE CHARGE	1	CFT	1	492.86
500-306	MILEAGE CMTG MAT DEL OR RETURN	657.15	TMI	.75 :10	65.72
500-307	MILEAGE SURCHARGE CEMENT MAT.	657.15	IMI	: 10	03.12
į			,		,
ł f		l oc	CEIVI	n	3,919,28
	INVOICE SUBTOTAL	STATE CORPC	RATION	COMMISSION	
	DISCOUNT-(BID)	JIAIL OOM	1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	766.71-
	INVOICE BID AMOUNT		0.8	1001	3,152.57
	TWACTOR BID WHOOM	MA	Uro		
	*-KANSAS STATE SALES	TAX CONSE	VATION	DIVISION	106.99
	* - DECATUR COUNTY SAL	ES TAX W	hita, Ka	nsas	25.17
	45 J 18 18 18 18 18 18 18 18 18 18 18 18 18			gard to have his	was now now many many many some samp many more not some
	9/577346X 2360/1	724			
	11/12/10/12/2011/		ļ		
	A STATE OF THE STA	V		27	110
) N -	,	1	
					KZ
	The state of the s				
	The second secon		. '	1	
	INVOICE TOTAL - PLEASE PAY THI	S AMOUNT ==	***		\$3,284.73
TERMS ANYONES RAYARIE NET BY THE 20TH OF THE FOLLOWING MONTH AFTER DATE OF INVOICE UPON					

AFFIX JOB TKT

TERMS INVOICES PAYABLE NET BY THE 20TH OF THE FOLLOWING MONTH AFTER DATE OF INVOICE. UPON CUSTOMER'S DEFAULT IN PAYMENT OF CUSTOMER'S ACCOUNT BY THE LAST DAY OF THE MONTH FOLLOWING THE MONTH IN WHICH THE INVOICE IS DATED. CUSTOMER AGREES TO PAY INTEREST THEREON AFTER DEFAULT AT THE HIGHEST LAWFUL CONTRACT RATE APPLICABLE BUT NEVER TO EXCEED 18% PER ANNUM. IN THE EVENT IT BECOMES NECESSARY TO EMPLOY AN ATTORNEY TO ENFORCE COLLECTION OF SAID ACCOUNT. CUSTOMER AGREES TO PAY ALL COLLECTION COSTS AND ATTORNEY FEES IN THE AMOUNT OF 20% OF THE AMOUNT OF THE UNPAID ACCOUNT.

PAGE: